Advanced Partial Differential Equations
Professor Doctor Kaushik Bal
Department of Mathematics and Statistics
Indian Institute of Technology Kanpur
Lecture 22
Mean Value Property of Heat Equation
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Welcome students. In today’s class and in this week specifically we are going to talk about initial

and boundary value problem.
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So, now that we have some idea of what the heat ball is, I mean, in this case, in our specific case

what the set is. Let us write down the heat equation, so mean value property for heat equation,

mean value theorem for heat equation.
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This integral I am not calculating this integral, but I mean this goes way back to 1961 or
something, there is a paper by Fulks where he has proved this property. This is not a very easy
thing to prove. So, I am going to assume this. So, with this, we are going to end this lecture. So,

we have proved what we wanted. Thank you very much.
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